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const
const
const
const
const
const
const
const
const
const
const
const

const
hour:

legacy = require('zigbee-herdsman-converters/lib/legacy"');

fz = {...require('zigbee-herdsman-converters/converters/fromZigbee'), legacy: require('zigbee-herdsman-converters/lib/legac
tz = {...require('zigbee-herdsman-converters/converters/toZigbee'), legacy: require('zigbee-herdsman-converters/lib/legacy"

exposes = require('zigbee-herdsman-converters/lib/exposes');

= require('zigbee-herdsman-converters/lib/reporting');
extend = require('zigbee-herdsman-converters/lib/extend"');

ota = require('zigbee-herdsman—converters/lib/ota');

tuya = require('zigbee-herdsman-converters/lib/tuya');

utils = require('zigbee-herdsman-converters/lib/utils');

e = require('zigbee-herdsman-converters/lib/store');

e = exposes.presets;
ea = exposes.access;

reporting

globalStor

exposesLocal = {

(name) => exposes.numeric(name, ea.ST @MY JET).withUnit('h').withvValueMin(®@).withvalueMax(23),
minute: (name) => exposes.numeric(name, ea.STATE_SET).withUnit('m').withValueMin(0).withValueMax(59),

program_temperature: (name) => exposes.numeric(name, ea.STATE_SET).withUnit('°C")
.withValueMin(S).withValueMax(35).withValueStep(O.Ss.

Hil

const definition

.
’

= {

fingerprint: [{modelID: 'TS@601',
{modelID: 'TS0601', manufacturerName: ' _TZE200_ztvwudnk'},
{modelID: 'TS0601', manufacturerName: '_TZE204_5toc8efa'},
{modelID: 'TS0601', manufacturerName: '_TZE200_5toc8efa'},

{modelID: 'TS@601', manufacturerName: '

manufacturerName: '_TZE204_aoclfnxz'},

TZE200_ye5jkfsb'}

{modelID: 'TS@601', manufacturerName: ' TZE200_u9bfwha0'}j,

model: '
vendor:

description:
fromZigbee:
toZigbee:

exposes:

exposes.climate().withSetpoint('current

BHT-002-GCLZB',
'Moes ',

.withSystemMode(['off', 'heat']
.withPreset(['hold"', 'pro ram']s

'Moes BHT series Thermostat',
[fz.legacy.moes_thermostat],
[tz.legacy.moes_thermostat_child_lock, tz.legacy.moes_thermostat_current_heatin
tz.legacy.moes_thermostat_standby, tz.legacy.moes_thermostat_sensor, tz.legacy.moes_t
tz.legacy.moes_thermostat_deadzone_temperature, tz.legacy.moes_thermostat_max_temperature_limit, tz.legacy.moes_thermostat_min_temperature_limit],
?e.child_lock(), e.deadzone_temperature(), e.max_temperature_limit(), e.min_temperature_limit(),
eating_setpoint', 5, 35, 1, ea.STATE_SET)
.withLocalTemperature(ea.STATE).withLocalTemperatureCalibration(-30, 30, 0.1, ea.STATE_SET)
ea.STATE_SET).withRunningState(['idle', 'heat', 'cool'], ea.STATE)

e.temperature_sensor_select(["IN', "L', 'ou'l),
composite('program', 'program', ea.STATE_SET).withDescription('Time of day and setpoint to use when in program mode')
.withFeature(exposesLocal.hour('weekdays_p1l_hour'))

exposes.

1,
onEvent:

.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
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.withFeature(exposesLocal.
.withFeature(exposesLoca
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.withFeature(exposesLocal.
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.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.
.withFeature(exposesLocal.

1.
1.

1.
1.

tuya.onEventSetLocalTime,

module.exports = definition;

minute( 'weekdays_pl_minute'))
ﬁrogram_temperatureT'weekdays_pl_temperature'))
our( 'weekdays_p2_hour"'))
minute('weekdays_p2_minute'))
ﬁrogram_temperatureT'weekdays_pz_temperature'))
our('weekdays_p3_hour'))

minute( 'weekdays_p3_minute'))
ﬁrogram_temperatureT'weekdays_p3_temperature'))
our( 'weekdays_p4_hour'))

minute( 'weekdays_p4_minute'))
ﬁrogram_temperatureT'weekdays_p4_temperature'))
our('saturday_p1_hour'))
minute('saturday_pl_minute'))
ﬁrogram_temperatureT'saturday_pl_temperature'))
our('saturday_p2_hour"'))
minute('saturday_p2_minute'))
ﬁrogram_temperatureT'saturday_pz_temperature'))
our('saturday_p3_hour'))
minute('saturday_p3_minute'))
ﬁrogram_temperatureT'saturday_pB_temperature'))
our('saturday_p4_hour'))
minute('saturday_p4_minute'))
ﬁrogram_temperatureT'saturday_p4_temperature'))
our('sunday_p1_hour'))
minute('sunday_pl_minute'))
ﬁrogram_temperature('sunday_pl_temperature'))
our('sunday_p2_hour'))
minute('sunday_p2_minute'))
ﬁrogram_temperature('sunday_pz_temperature'))
our('sunday_p3_hour'))
minute('sunday_p3_minute'))
ﬁrogram_temperature('sunday_p3_temperature'))
our('sunday_p4_hour'))
minute('sunday_p4_minute'))
program_temperature('sunday_p4_temperature')),

Y det

romZi
igbee

??ee};

setpoint, tz.legacy.moes_thermostat_mode,
rmostat_calibration,



